Short answer. Answer  the following questions in the provided grid. (2 points)

10. Mr. Wallace is running out of candy. In his candy jar, he only has a few handfuls left. Draw a circle graph representing his remaining candy from the following table. Make sure to place percentages in the circle graph. Show all work. 

                   TYPE OF CANDY
               NUMBER OF PIECES

                 JOLLY RANCHER
                               8

                       TWIZZLER
                               3

                    TOOTSIE ROLL
                               5

                     STARBURST
                               4

Short answer. Answer  the following questions in the provided grid. (2 points)

11. Look at the figure below. Draw a similar figure with a 1 to 4 relationship. (You may draw the arrow below the given image.) 

